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Study Guide
Hame: Dt

1.} Graph y = -ui_-ndyzaws What is the point of intersection?
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fx + 2y = 810 = mx + b form Then, graph the equation and
graph.
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g I+ 5= =3r+5
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d. When Sagh.; sobved her equation fgr x, she 0= 0 I ghe did everything cormect!
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4.} Two companies offer aiffarent rantal packages for boat rentals. Tha first eompany,
Beity's Boats, requires o doposit of S50 and charges $26 per hour, The second company,
Sam's Ships, requires a deposit of $100 and charges 520 per day

& Write an eguation for each company thal represents the charges o rent each jel sk

o y= 3x 450
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to find the point of interseckion and explain ulnhalllt rntlan_:f_ :
JS'}( 1'3.{-'7:|...\ "'.i.|_ '_\-I'-L.I -::,,..'-._":r-
—anx T elY o Joute

%

?ﬁlmﬂmwanbeﬂwmldmzhuu;W:h.m-'?ln'."nﬁ
hw Ror fess fnea d hrs whie Dem's 0
"W dhen H ke The lines tatereck of dhes,




